[ Efficiency vs vertpos |

= 0.0
%.009
2
2.008
(8]
@.007
=]
.006
0.005
0.004

..........................

..........................

..........................

............

0.003
0.002

0.001

&
o B P AT
= ] ;
© F : i I R
£ 12 : (B
£1 = EETTPPEN B ERPROR HATHHE T
15_' """"5"‘* --------- :-mr--n—w0---0;0--4»-4»--..
107 10 1

Efficiend

~ 0.0

©.009F -+ +berreedeees R RT SRTIT

® E : :

2.008F -+ wbererendeenees T SRR

> - . .

o E : :

D 007w b i S SATTRER SRSRS

E10]0) RRER SRR SRR S SITTRTRT RN

o o : :

0.005F- -5 ereeesdneneencs S SATTRER SRSRS

0.004F -+ heeeesdnenennes R RPRT RATTRTS

0.003F+++++cfereeredneseenes R RREES SR

0002 +++++heeeediflooenebonondeniinns P

0.001F-+++-h-eeseni ; #m# Rk SR

. R S T 11 A I T

R ORI 1R 1 T R

e 0.9 -~ R S 11 A
A9 OO | B
030 =20 -10 0 10 20 30

[ Efficiency vs. sim PV

TP vert z (cm)

~ 0.07
>
20.009
5.008
$.007
>
_a_‘:j).oos
9.005
[J]
0.004
0.003
0.002
0.001

(g‘['.'..'. .

Ratio

0.8 --=-f-q----d--b- -] F -

Sim. PV z (cm)




	Contents
	Page 1


